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log,(af) = log, a + log, f
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log, a™ = mlog, «

[ E RRE]
4. UTOKFHEEZB I A,
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(1) log,(aB) = (2) logya® = (3) log, (%2) -



[EREROF v Y]

- FEEBA R & A BE R
y=a* OX 5B AEREEE LN y=log,x DX D 7B A REBEIE L L5,
ZD2O00BEIE, xEyE ANRZTZERICH S,
GEH)  y=a* OWil&aZKE T O AE LD &,
log, y = log, a*
log, y = xlog, a
log,y =x
L%,

- FEEBE R - KRB OIEH]
H DB DOTESIT, A 5% THD 95, ZOTEEICTAITRHIT D & X, THE&DR LD 255 2
L DVE, ATHERZR D,
ZOMEIE, y =105 W OB T, y=22 &2 5x2KRDDHENVWHI L THD,
T7ebb, 1.05* =2 5x%wRD D,
ZOWGAD 10 R E T HEE & DH L
log;y 1.05% > logy, 2
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x= log, 1.05
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